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The unit vector Er is in the

direction of the vector

proj ( Top ,
e) + projcrop ,j )
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QZ : The above vector proj + proj
is always a unit vector ?
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Consider the two vectors

#*ryTQZ : Which of the following
statements is

definitely true
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" Which of the following .I .
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@ the is not enough information to answer @ or @

062: Consider the path given by
the position

vector PCH
Is the statement
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Rsition.velocity_aton.PH
)= ×HtdtyH)f+zH)k

TH =EHl= little tyttlftzttlk
ECH = FCA = iittletijttlj + ECHI

In polar words and basis
: £r=cosOetsinOf

§(H=rEr + z HE fo= - sicdttcosf

era =

ierxroeo.si#aCH=Cro-ro2)er+(ritt2iB)fotzik=keveryth=l7vsudzasnmzHj=o
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T= ¥+ rote speed - 1rO°l

E = crtjrloyer+ (rotated
= - romer +r0÷radial tang .

If w=O° = const =D a- = -ri


